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The Passive Voice.

g af- LK ¥

(.




R A4 N

| Active Voice Passive Voice
| AKMUBHBIL 3AN02 cmMpaoamenbvHbill —
/ \_ naccusnblit 3a102

g

il

nooaexcaujee npou3gooum nooaexcauiee e
deticmeue, m. e. s18.19emcs npoussodum
deticmsywuM AUUOM 8 deticmeaue,
npeooxceHuU m. e. He 28.45emcs
deticmeyrowum
AUUOM 8
npeoaoHceHUU

N/ Al K KX iy e—




Kams nocaaaa nucbmo Ha npoutaoil
Hedene. (Kamsa cama svtnoanuna
deticmaue - aKkmuseHbll 3a102).

Kate sent a letter last week.
(Active Voice)




ITucvbmo ObL10 nocaarHo Kameil Ha
npoutnoil Heoesae. (ITucbmo He camo
omnpasu1o cebs - NaccusHblll 3a.102).

The letter was sent by Kate last
week.

(Passive Voice)
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to be + V3 (ed)




| Present Simple

am /is / are Vs (ed)

Present Continuous

am /is/are being Vs (ed)

Past Simple

was / were Vs (ed)

Past Continuous

was / were being V: (ed)

Present Perfect Simple

have / has beenV:s (ed)

Past Perfect

had been Vs (ed)

Future Simple will be Vs (ed)
can —
Modal verbs must L Dbe Vs (ed)
may _

\




Active Voice

sp made, the ostyes.

subject predicate object

Passive Voice

subject predicate agenl




B cmpadameavHom 3an02e, Hmobwl
CKa3ambv Kem UAU C NOMOUbIO Ue20 ObL10
cosepueHo delicmaiue UCNO0Ab3YHMCA
npeoao2u:

By — xem-mo;
With — ¢ nomowbro ue2o-mo.
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Mmnoz2o pabomwt 66110 0AHO HAM
HaQWuMm yuumenem.

A lot of homework was given to
us by our teacher.
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Ob6.1axa dsu2aromecest ¢ NOMOWbo

gempad.
Clouds are moved by / with the

wind.




SIMPLE PROGRESSIVE PERFECT
PRESENT | Everyday, always | Now, at the Just, already, ever,
often, usually. moment never, today, this
am am being year, yet.
is \V3 is being_\Vg have been
o \ V
are / are being 3
has been —
PAST Yesterday, last At that moment By
week, last year, yesterday
last month. was being e e
was V3
\V3 were being .~
were /
FUTURE Tomorrow, next
week, next month,
next year. will have been V3
will be V3
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